```
Integral of a complex-valued function.
f: [a, 1] \rightarrow C = X(t) + iy(t)
\int_{a}^{b} f(t) dt := \int_{a}^{b} x(t)dt \cdot \int_{a}^{b} y(t)dt.
Linear: SUF(+)+Bg(+))d+ = LSF(+)d+-BSB(+)d+ (2,BEC).
Additive: $ f(t) 1+ + $ - 1+) 1+ = $ f(t) 1+
Change of variables: + >> g(t) precerise differentiable, increasing
on [c,d), g(c)= a, g(d)=b: St(t)dt = St(g(s))g'(s)ds
Change of orientation: State = Starb-1)dt
Lemma. | Sf(t) dt | < S6 | f(t) | dt
Remark: " t: [a, 0] - 1R : Use - [E = + = | + 1.
Proof. Change of phose trick.
 M:=\int_{a}^{b}f(t)Jt
 IMI2 = MSf(t) St= le MSf(t) St= SReMF(t) St <
       SIMI | F(f) | dt = | M | S 1f(t) | dt = )
 | M | = 5° 1+(+)| d+ i+ M + 0
  (M=0- obvious) 1h
     Line (contour) integral.
 Let & be a piece-wise smooth curve. f- a function continuous
 on Y [a,6].
                              Z(t)=\begin{pmatrix} \chi(t) \\ y(t) \end{pmatrix}, t \in (a,b) - p-come t \in (a,b)
Det (Line integrals).
    9 f(z) dx:= \ f(z(+)) x'(+) d+
    § f(2)dy:= $f(2(t)) y'(t)dt
    6/12/12 6/12/11 6/12/11
```

\$ f(z)dz := \$\int f(z(t)) \geq'(t)dt = \int f(z)dx + i \int f(z)dy. Properties. 1) Independent of parameterization. Y: (a,6) - (, S: [&,d] - (a,6)-increasing, piecewise-differentiable. Then & f(7) dz = \$ f(2(s(4)) z'(s) dz = \$ f(2(s(4)) z'(s) s'(4) dt = S f(2(s(+))) (2(s(+))) d+. S(c)=b, S(d)=a Y: (a,6) - (, S: (£, d) - (a, l)-de creasing, yiecewise-differentiable. Then & f(7) dz = S f(2(s)) z'(s) dz = S f(2(s(+)) z'(s) s'(+) dt = - S f(2(s(+))) (2(s(+))) dt. Y traversed in the opposite direction. Notation: Y-3) Additivity: 8,: [a, b] - C, 8, [b, c] - C, 8, (6) = 8, (6) Detine: $\{Y_1 + Y_2|\{t\} = \{Y_1|t\}\}, q \leq t \leq \ell$ on $\{a,c\}$. $\{Y_1 + Y_2|t\}$, $\{a,c\} \in \{Y_2|t\}$, $\{a,c\} \in \{X_1,c\}$. g + (a) dz = g + (a) dz + g + (a) dz - by direct computation.4) Linearity 2, BEC \$ (2 f(2) - B g(2) | dz = 2 f(2) dz+ B f g(2) dz.

 $\frac{A \quad \text{Verg important example.}}{Y: [0,2\pi] \rightarrow C} \qquad \frac{2(t)}{2t} = a + reit \qquad \frac{2\pi}{a}$ $n \in \mathcal{U} : \qquad \oint (z-a)^n dz = \int r^n e^{int} rie^{it} dt = ir^{n+1} \int e^{i(n,1)t} dt = e^{i(n,1)t} dt =$

 $\begin{array}{c}
\left(\begin{array}{c}
\left(\right)
c}
\left(\right)
c}
(\right)
c}
(\right)
c}
(\right)
c}
(\right)
c}
(\right)
c}
(\right)
c\\(c)
c\\(c$